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SMDEP/NERA 2017
ORGANIC CHEMISTRY EXAM II

Multiple Choice – 5 pts each

1) What is the degree of unsaturation of the following compound:

a) 2
b) 3
c) 4
d) 5
e) 6

2) Given that the degree of unsaturation of a compound is 4, which of the following structures
is not possible?

                     

a) Two of these structures are possible
b) One structure is possible
c) Three structures are possible
d) All of the structures are possible
e) None of the structures are possible

3) Which of the following reactions is a primarily a cis addition?

       a)                                                   d)  

       b)     
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